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6. The roots of the equation x* + 2x+5 =0 are
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11. Which expression is equivalent to
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12. Determine the quotient and remainder when (fie” + 11¢* - 4 ~ 3) is divided by {3« ~ 2). Express hyou'r'
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16. Completely factor the following expressmn 43+ 4y %m
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20. For all values of x for which the expression is defined,
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22. Consider the function #{x) = 3x* + x* - 5x and the graph of y = m(x)
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Which statement is true?
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2) p(x) has one real root and »(x) )K’l p(x) has three real roots and »{x)
has two real roots. has four real roots.
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23. The parabola described by the equation y = —11—2- {(x=2)* + 2 has the directrix at y = 1. The focus of the
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24. Al4th degree ponnomlal has zeros(=>, 3, 1, and -,
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25. On the grid below, graph the function fTx) = x* - 6x* + 92+ 6 on the domain -1 £x <4,
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26. The graph of y = f{x) is shown below. The function has a leading coefficient of 1.
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27. The graph of the function p(z) is sketched below. AR OC\O\ | |
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28. Evaluate j(~1) given j(x) = 2x* - x° = 35x° + 16ix + 43 Explain what your answer tells you about x+ 1 as
a factor. Algebraically find the remaining zeros of j(x).

ACD = 2EN (- BSEY 1D+ S
0o \ED=0 % x=-1 (5 areot, wheh
/LOXEL,\;\;'\\%\;\ \5 muouad (x+1) is o factor
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30. Which binomial_;s_a factor of x* —4x% —4x+ 89
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31. Given r(x) = x° —4x° + 4x— 6, find the value of #(2). What does your answer tell you about x— 2 as a
factor of 7(x)? Explain.
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